

1) Calcule a derivada de

$$a(x) = \frac{e^{\log(x^2+1)} \cdot \ln(e^x+x)}{\sqrt[3]{x^2+3x} - \cos x}$$

$$b(x) = \frac{e^{\log(x^2+1)} \cdot \ln(e^x+x)}{f(x)}$$

$$c(x) = \sqrt[3]{x^2+3x} - \cos x$$

$$a'(x) = \left(\frac{b(x)}{c(x)} \right)' = \frac{b'(x) \cdot c(x) - b(x) \cdot c'(x)}{c^2(x)}$$

$$b'(x) = d'(x) \cdot f(x) + d(x) \cdot f'(x)$$

$$d(x) = e^{\log(x^2+1)}$$

$$g(x) = e^x$$

$$h(x) = \log(x^2+1)$$

$$d(x) = g(h(x))$$

$$d'(x) = g'(h(x)) \cdot h'(x)$$

$$g'(x) = e^x$$

$$h'(x) = \log x \quad i'(x) = \log^2 x$$

$$j(x) = x^2+1 \quad j'(x) = 2x$$

$$f(x) = (i \circ j)(x)$$

$$f'(x) = i'(j(x)) \cdot j'(x)$$

$$h'(x) = \log^2(j(x)) \cdot 2x$$

$$h'(x) = \log^2(x^2+1) \cdot 2x$$

$$d'(x) = e^{h(x)} \cdot h'(x)$$

$$d'(x) = e^{\log(x^2+1)} \cdot \log^2(x^2+1) \cdot 2x$$

$$② f(x) = \ln(e^x + x)$$

$$f(x) = \ln(x)$$

$$f'(x) = e^x + x$$

$$f(x) = \ln(x)$$

$$f'(x) = f'(x) \cdot f'(x)$$

$$f'(x) = \ln(x) \cdot \ln(x)$$

$$f'(x) = (e^x)^2 + 1$$

$$m(x) = e^x, m'(x) = e^x$$

$$n(x) = x^2, n'(x) = 2x$$

$$e^x = \ln(\ln(x))$$

$$(e^x)^2 = m'(n(x)) \cdot n'(x)$$

$$= e^{n(x)} \cdot 2x = e^{x^2} \cdot 2x$$

④

$$f'(x) = \ln(x) \cdot \ln(x) \cdot \ln(x) \cdot [e^{x^2} \cdot 2x + 1] \\ = \ln(x) \cdot \ln(x) \cdot \ln(x) \cdot [e^{x^2} \cdot 2x + 1]$$

Assim já podemos calcular $b'(x)$.

$$c'(x) = (3\sqrt{x^2+3})' - (\ln(x))'$$

$$g(x) = \sqrt[3]{x}$$

$$p(x) = x^2 + 3$$

$$g'(x) = (x^{\frac{1}{3}})' = \frac{1}{3} x^{\frac{1}{3}-1} = \frac{1}{3} x^{-\frac{2}{3}} = \frac{1}{3\sqrt[3]{x^2}}$$

$$p'(x) = 2x$$

$$5) \sqrt[3]{x^2+3} = g(p(x))$$

$$(\sqrt[3]{x^2+3})' = g'(p(x)) \cdot p'(x) = \frac{1}{3} \frac{1}{\sqrt[3]{x^2+3}} \cdot 2x$$

$$= \frac{1}{3} \frac{1}{\sqrt[3]{(x^2+3)^2}} \cdot 2x$$

$$\therefore g'(x) = \frac{2}{3} \frac{x}{\sqrt[3]{(x^2+3)^2}} + 190x$$

$$a'(x) = \frac{b'(x) \cdot c(x) - b(x) \cdot c'(x)}{c^2(x)}, \text{ onde}$$

$$b'(x) = e^{\log(x^2+1)} \cdot \ln(x^2+1) \cdot 2x \cdot \ln(e^x+x) + e^{\log(x^2+1)} \cdot \ln(e^x+x) \cdot \log(e^x+x) \cdot [e^{x^2} \cdot 2x +$$

$$c'(x) = \left(\frac{2}{3} \cdot \frac{1}{\sqrt[3]{(x^2+3)^2}} + \ln(x)\right)$$

$$b(x) = e^{\log(x^2+1)} \cdot \ln(e^x+x)$$

$$c(x) = \sqrt[3]{x^2+3} \cdot x - \ln(x)$$

$$u'(x) = \frac{b'(x) \cdot c(x) - b(x) \cdot c'(x)}{c^2(x)}, \text{ Ende}$$

$$) = e^{\operatorname{tgy}(x^2+1)} \cdot \ln^2(x^2+1) \cdot 2x \cdot \ln(e^{x^2+1})^2 + e^{\operatorname{tgy}(x^2+1)} \cdot \ln(e^{x^2+1}) \cdot \operatorname{tgy}(e^{x^2+1}) \cdot [e^{x^2} \cdot 2x + 1]$$

$$(x) = \left(\frac{2}{3} \cdot \frac{1}{\sqrt[3]{(x^2+3)^2}} + \ln(x) \right)$$

$$p(x) = e^{\operatorname{tgy}(x^2+1)} \cdot \ln(e^{x^2+1})$$

$$c(x) = \sqrt[3]{x^2+3} \cdot x - \ln(x)$$